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A XS EH
g NS3H 243t

Sl A BA = (el &2
_ _ _ N E
SN EB -GS - MBAY - BES 01l &k o o HRE2
SEELIECEIEEES 500, 0002 500
01 YerBA 4,335 4,33 0
12 JIEt2 42 4,33 4,335 0
OMANBIA 2T HFAL Al
8502 *3407H 2 4 » 1501 4,335
WLAXIS SHEN 23 575 669 A9
206 W&l 325 229 %
01 T2l 325 229 %
OMSER A8 AE 7Y 325
ss 1,000 +32) 42574 & & 82
=E 1,52021+32) 42574 f & 114
HeR 1, 72021 +32) £ 2574 f & 129
405 &+ SH 250 0 250
01 RMUSEHSH| 250 0 250
OnXg tuet 250, 00024 *1CH 250
CRE PR 103,026 98,284 4,742
2 20,326
AlHI 27,275
2t 55,425
s B4 BB 103,026 98,284 4,742
2 20,326
Al 27,275
24 55,425
349 29 4,800 4,800 0
Al 2,400
24 2,400
201 L2y 4,800 4,800 0
Al 2,400
24| 2,400
01 ALR eIt 4,800 4,800 0
OZ22 2g 4,800,000% 4,800
Al 2,400
2t 2,400
242 £H 2A 700 500 200
2 350
Al 350
206 W&l 700 500 200
2 350
Al 350
01 T2l 700 500 200
OBME 271 AN 700,0002! 700
2 350
Al 350
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6,000

3,000
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2,300

6,000,000&
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6,000
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3,000
3,000

3,700

2,300

AlHI
Tl

4,000

2,000
2,000

3,000

1,000

AlHI
Tl

4,000

2,000
2,000
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1,000
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AlHI
Tl

4,000
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6,083
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A 1,390
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SN XIS
a5 569 25
R L EE (S5 &2)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
AlHl 1,872
24| 1,872
307 QI2H0|H 3,744 3,978 ~234
Al 1,872
24 1,872
05 912t9IEr3 3,744 3,978 A234
Os20l MWaHoE 2XHE XNE  3,744,0008 3,744
Al 1,872
2t 1,872
SNSRI BF 2,466 0 2,466
= 1,726
Al 370
2t 370
307 2201 H 2,466 0 2,466
=2 1,726
Al 370
24 370
05 9129IEr3 2,466 0 2,466
OEYNZH 22X 2,466,0002! 2,466
= 1,726
Al 370
2t 370
ssss 4,500 15,000 £10,500
201 Yer2 Y| 4,500 15,000 A10,500
01 A2l 4,500 15,000 £10,500
Ofert Agg 0101328 79 2 Az
15,0002 +3005 4,500
S42 BAX BE 200 200 0
206 W2 200 200 0
01 HEH| 200 200 0
OsM8 AMX BE AVA2 2Y
L0002 %407 200
SMBATA FA 705,633 468,693 236,940
Al 200,000
24| 505,633
H=e e E4 374, 127 109,993 264,134
Al 200,000
24| 174,127
SSURAN HEHDY =4 200,000 0 200,000
At 200,000
401 Al&HIL = 0| 200,000 0 200,000
Al 200,000
01 Al&t] 200,000 0 200,000
SSUHRAN GEHYY =4
200,000,000% 200,000
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fA: NS Z ML
Hu: SMBACA XA
el WEE B X4 (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
| AlHI 200,000
38 ¥ REX 22 174,127 109,993 64,134
101 Q14| 43,806 45,497 A 1,691
04 JIZtHIZ22HEsE2 43,806 45,497 A 1,691
o3& &2 43,806
el =l 42,0452 x5 x 150 31,534
SIS = 5,000 x1H 150 750
=Xt 42,0453 x5 «30 6,307
- Xt 42,0453 x5H +7 1,472
- ZLAZIEE REHS 40,062,000 *4.5% 1,803
CIEEE RES3 40,062,000 *1.3% 521
AMHEE RE3 40,062,000% *0.7% 281
- ZOALEY FEHS 40,062,000 *2.665% 1,068
A2 RES
1,068, 000& *6.55% 70
201 Let2d| 29,181 35,376 26,195
02 =234l 29,181 35,376 26,195
o3& B33 14,400
HMol= 600,000& «12& 7,200
& - ot=Eg 600,000& *12& 7,200
OS2I =2 500, 0003 *2J4 £ 1,000
O=d 282 400,000 *20H &~ 800
OSUHsEX Zeli Y
1,090 & +82| & 702 »2CH 1,221
OZFANEZEH X 2tel 11,760
SRUHSI R LSEY| 300,000& » 14 300
3ES 40,0003 x94 & 3,760
¥ ¥ 22 NHEEsEA
30,000& 10 * 15K 4,500
S&E AlE= 3,000,000& 3,000
32 AL 200, 000& 200
203 YR FY| 140 120 20
03 AHEFIHSFAH| 140 120 20
OS2l & Iz 2cld sl
35,000& »4H 140
206 THZH 2,500 3,000 A500
01 MHZ bl 2,500 3,000 A500
O3 3Hl Hge+ 2 2,500,000& 2,500
401 A &HI L 204 98,500 26,000 72,500
01 Al&HI 98,500 26,000 72,500
OlE s X AE2 ZHl 52,000,000& 52,000




fA: NS Z ML
Hu: SMBACA XA
el ANE ZE XA (=CR-E
SN HB SR (BIH) - A - B S sk oy e 2
OUti2s MAZE AtE Fh| 6,000,000& 6,000
OZd, 28X 238 &X  4,100,000& 52 20,500
OlBES=, YelHLYI SAZEAHE (SE)
28 JI2EAESH 20,000,000& 20,000
ME DIt =5} 331,506
24 & st =X 22 331,506
jelal=] 180,607
04 JIZtMZ22XSE+ 180,607
OztH=Xn 2l 88,896
- IR 42,0453 x14H 120 70,636
CBHE 5,000 x1H 120 600
- =Xt 42,0453 x 14«24 14,128
- A Xt 42,0453 x14H 6 3,532
Oz el 76,282
- QIR Y 42,0453 x12H 120 60,545
SIPSECE=y 5,000 *1H 120 600
- = 42,0453 x 12 x24 12,109
- Xt 42,0453« 12H +62 3,028
Oeg= 15,429
=H=28 823 165,176,000 *4.5% 7,433
=2g 2E3 165,176,000& *1.3% 2,148
MHEE RE= 165, 176,000& *0.7% 1,157
2P 23
165,176, 000& 2. 665% 4,402
IR AEE BES
4,402,000& *6.55% 289
201 Yot gy) 21,774
02 =234l 21,774
OJt2= 2eld FUES AIE=E
35,000& 123 420
O=sXANEE 22223 13,200
SRaPIK=d 550,000& «12& 6,600
& Ot E R 550,000& «12& 6,600
O=sXZelE AMEEH | 7,154
) 100,000& +6CH 600
- SES 100, 000& 2CH 200
sa&ED| 100,000 = 1CH 100
STHIHAH DI 100,000& = 1CH 100
SRUFZSR) 1,720&*1,0002| & 1,720
SEU(TH01) 1,5620& 5002 & 760
=sX2el8 SOIL XM L =S014)
446, 7803 x5 2,234




S ENE=E=
HE: =MEACA X4
Sl MEBI =3t (e @8
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
=R FIILR (ST
330,000 *3! 990
SNNAR UMBE 2 30,0002 +15 450
o=+ 22l 1,000
steediel nEN 250,000 250
ST WX B 250,00024 250
NE BEIZE 250,000%! 250
SAOLAIOIE RS 250,000%! 250
206 M= HI 66, 125 59,100 7,025
01 M2 66, 125 59,100 7,025
024, sigh, =XO AKX P 30,500
24 M 5,0002 4, 5000H 22,500
H - oS BHSA 10,0002 *200 2,000
CHEI=ME 5,0002 +2007H 1,000
ES(FFBYS) 40,0002 * 100X 4,000
CHAED(MIYIIR, ) 10,0008 %100F 1,000
ONEY %3 7 14,625
- IBESHIZYWAIILION 21,2502 ¥500 10,625
SIS 4,000 1,000 4,000
OZst M4 L ANHRY 21,000
HIE 2 =9 7 10,0002 600 6,000
220\ 15024 %100,0002 15,000
305 HASS 2,000 2,000 0
01 Hha3S 2,000 2,000 0
OL & (SXIRY) 2,000, 0002 2,000
401 AEHILR 61,000 61,000 0
01 Al&| 60,000 60,000 0
O4R2 SEHEH U SHBA 42 2
30,000,0002 30,000
OJ24 ZAX 2ABA 600, 0002 *502 30,000
03 Al& SOt 1,000 1,000 0
O=TXIA A& 1,000,0002 1,000
NEPGETRE Y 2,981,000 4,120,533 A1,139,533
= 891,576
3 409,450
At 600,663
2| 1,079,311
WEEIPN 621,561 642,064 £20,503
= 23,623
AlHI 7,222
2| 590,716
NEEIDN 40,120 35,422 4,698
= 16,048




A XS
M MEREL =4
& A= (cte: =<
i, _ _ pSIEN=
SAN-ZH-SA(FA) - NFAY - BES e 'Oﬁ/'\ja'g Hlw &2
AlHI 7,222
-l 16,850
101 el 28,450 0 28,450
= 11,380
AlHI 5,121
Tl 11,949
04 JIZHZZ2RSE> 28,450 0 28,450
OMESHZH LS (5H) 28,450,000 28,450
= 11,380
AlHI 5,121
Tl 11,949
201 EHRHH| 4,070 3,150 920
= 1,628
AlHI 733
Tl 1,709
01 AtR2teld] 3,500 3,150 350
OL2as g4 1,500,000& 1,500
= 600
AlHI 270
Tl 630
Ou=X 28= 2 2,000,000& 2,000
= 800
AlHI 360
Tl 840
02 3323l 570 0 570
OMEZAIE AXZHAIAE JtedHl & Sz
570,000& 570
= 228
AlHI 103
Tl 239
202 OdH 600 600 0
= 240
AlHI 108
T4l 252
01 2o 600 600 0
Ouzds =5 600,000 600
= 240
AlHI 108
T4l 252
206 THZ=Hl 3,500 3,500 0
= 1,400
AlHI 630
T4l 1,470
01 M=Hl 3,500 3,500 0
O &etEd 2 3,500,000& 3,500
= 1,400
AlHI 630
Tl 1,470




SAREPN
SRR

o
SETRPNE

A Xl (ctel: &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
405 AHoHESHI 3,500 4,300 A 800
2 1,400
AlHI 630
4l 1,470
01 T =SS HSHI 3,500 4,300 A800
OJIHBMEXSAI AR (L E) 3,500, 000& 3,500
= 1,400
AlHI 630
4l 1,470
ASIAEIAZ20 SR 21X 7,575 0 7,575
= 7,575
301 et24 = 7,575 0 7,575
= 7,575
09 2UAIZRRIBLHS 7,575 0 7,575
Our2ex 2 &3 ARE X (5Y)
7,575,000& 7,575
= 7,575
MENHY 2 At 573,866 606,642 A32,776
101 24| 524,387 544,739 220,352
04 JIZH22XSEL 524,387 544,739 20,352
RN 524,387
oI 42,045@ x50 x180 378,405
LIPS = 5,000& «8H =180 7,200
=Xt 42,0453 x50 «36 75,681
BN, 42,0453 x50 x9 18,921
- SHASEE RS 473,006,250 x4 .5% 21,286
- ZLALEE RS
473,006,250 *2.665% 12,606
- NESE R2Y3 473,006,2503 *1.3% 6,150
MBS RES 473,006,250& *0.7% 3,312
LI RAEE BES
12,605,6173 *6.55% 826
201 LBty 23,844 23,783 56
01 AtE222lHl 20,990 20,990 0
Ou=X 22 800
=0 10,0002 *500H 500
o 2HE 60,0003 *57H 300
OMEYT HHHER 22X SA(BY)
7,000 «5H +1342 4,690
OL=2X HHER 2R4Y
50,000 x5 H 622 15,500
02 ZE=2ZHl 2,854 2,798 56
OFl&s AHBZ 35,0003 x12& 420
O«gaels AIdEY 2K 1,780




A XS EH
B AT T4
el ArE T (=R
S FB SR (E) - NRAY - Be S 0 &t Soe RS2
1Y SEHED 50,000& =44 200
S&I| = 10,000 & »68CH 680
- Ol = 01 50,000 = 18CH 900
OMEYT 22 UYRE 2
1,090& +82| H+75& 654
203 HRF4Hl 3,500 4,100 A 600
03 A=A HL=LH| 3,500 4,100 A 600
od=0egy & detes =4 3,000,000& 3,000
OLE2Z A SURA AdH 500,000& 500
206 M=l 5,215 5,215 0
01 M=Hl 5,215 5,215 0
Ot ogs I 2 5,215
e 4,730 +500% 2,365
T 3,500& *300H 1,050
X 4, 5003 20074 900
NS 4,000 10074 400
A&X 3,000& = 1004 300
s 1,000& 2004 200
301 YerEAz 7,920 19,800 A11,880
09 SUZRRIALLHZS 7,920 19,800 A 11,880
Ot=ZA SA2RRE A
5,000 6B «222 x 128 7,920
401 AlHIL 2] 9,000 9,000 0
01 Al&ZHI 9,000 9,000 0
Odt=0ley Yotd &X 9,000,000& 9,000
ArE2te| 2,359,439 3,478,469 A 1,119,030
= 867,953
& 409,450
AlHI 593,441
THl 488,595
AE H -GS A 718,472 215,213 503,259
= 471,605
AlHI 74,056
T4l 172,811
401 Al HI LS 718,472 215,213 503,259
= 471,605
AlHI 74,056
-4l 172,811
01 Al&HI 718,472 215,213 503,259
Oty & -oils &AM 718,472,000& 718,472
= 471,605
AlHI 74,056
-4l 172,811
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e EE
Ha: AT X4
el ARl (B9 &2
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Of) & o il b o HRs2
% ot 214,041 215,070 A1,029
=2 118,914
AlHI 28,539
2| 66,588
401 AEHIL 20 214,041 215,070 A1,029
=2 118,914
AlHI 28,539
2| 66,588
01 Al&dH| 214,041 215,070 A1,029
O% 3| 200, 140,00024 200, 140
= 111,191
AlHI 26,686
2| 62,263
OXX % 1| 13,901,0002 13,901
=2 7,723
AlHI 1,853
2| 4,305
LN 12,150 20,250 A8,100
= 9,450
AlHI 810
2| 1,890
401 AEHIL S0 12,150 20,250 A8,100
3 9,450
AlHI 810
2| 1,890
01 Al&tl 12,150 20,250 A8,100
oYz 24 12,150, 0002 12,150
3 9,450
AlHI 810
2| 1,890
MRINHIA EX 13,899 70,361 56,462
= 8,340
AlHI 1,670
2| 3,889
101 Q1248 3,899 70,361 56,462
=2 8,340
AlHI 1,670
2| 3,889
04 JIAH22RSLS 13,899 70,361 A6, 462
Ostm% BCIHOIE 13,899, 0002 * 1% 13,899
=2 8,340
AlHI 1,670
2| 3,889
saz A®| 69,217 91,700 A22,483
= 19,094
AlHI 13,366
2| 36,757
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SN
X XH .
S Tt

ok

RS DA,
SHE RS &
shg kel

_ _ _ Muo
SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
401 Al&HI LS04I 69,217 91,700 N22,483
= 19,094
AlHI 13,366
T4l 36,757
01 Al&HI 69,217 91,700 A22,483
OS&2 Fl 69,217,000& 69,217
= 19,094
AlHI 13,366
T Hl 36,757
SANs =4 800,000 700,000 100,000
& 400,000
AlHI 400,000
401 Al&HI LS04I 800,000 700,000 100,000
= 400,000
AlHI 400,000
01 Al&H| 800,000 700,000 100,000
OCIlS ZEIOI2 MWEXWH SAl= =4
300,000,000 300,000
& 150,000
AlHI 150,000
Ootgz=u-HSEHIHE?N TAlz =4
500,000, 000& 500,000
= 250,000
AlHI 250,000
A SERA £d 500,000 500,000 0
= 250,000
AlHI 75,000
-4l 175,000
401 Al YIS OHYI 500,000 500,000 0
= 250,000
AlHI 75,000
T4l 175,000
01 Al&H| 500,000 500,000 0
OXtdalZd =4 500,000, 000& 500,000
= 250,000
AlHI 75,000
T4l 175,000
otoj&t 22 X4 2,000 2,000 0
206 M=l 2,000 2,000 0
01 M= dl 2,000 2,000 0
Okt & BE52X Y 2,000,000& 2,000
MEES ALY 29,660 26,060 3,600
201 LEH2HH| 12,760 9,160 3,600
01 AtER22/Hl 9,160 9,160 0
OzZ0l=t &4 2tel 30,000& »30kg*72l 6,300
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X = ZH
seixieel x4
sz (e @@
S A .S (FH) - NBAY - BHAS A} OH &EIE Hn=2
- = T - = Rl e =5 0:”/&,% Lsa
Oal=deiAt 4 7,000& x200H 1,400
OJEE U HRIIdHAL =4 7,000&+80H 560
ORHIHA =+ =2 MA 30,0003 +30& 900
2322l 3,600 0 3,600
O oA &Iz 100,000 *304 A = 12& 3,600
206 M=l 11,900 11,900 0
01 =4l 11,900 11,900 0
ORI = 5,200
25 7Y 4,500 +1,000=2 4,500
== 7 5002 *1,000= 500
AP ] 200, 000& 200
Oal=SddHAN M 6,700
2= 6,000& 1,000 6,000
A== 500& *1,000% 500
- Kb XH 200, 000& 200
401 AIEHIZ 2 5,000 5,000 0
01 Al&t| 5,000 5,000 0
Odg oy =D} Mol FIES MAHSAH
5,000,000 5,000
oA D18 &4 1,777,850 2,417,199 A639,349
= 601,000
& 31,000
| 250,000
AlHI 788,500
-4l 107,350
AR B4 592,850 1,262,199 A 669,349
= 220,000
& 31,000
AlHI 234,500
2l 107,350
SHER Y 2= 44,000 60,000 A 16,000
& 31,000
AlHI 6,500
-4l 6,500
206 M= HI 44,000 60,000 A 16,000
= 31,000
AlHl 6,500
-l 6,500
01 M=H| 44,000 60,000 A 16,000
O=drEE Y ¢& 44,000,000& 44,000
= 31,000
AlHI 6,500
=l 6,500
S8 Hd RFE2&H XA 40,000 70,000 A 30,000




SN
X XH .
S Tt

el

I:I}\_I X ZH C|—O|(;| j;”) }\.“bl}\l,o-l A2 AFOH I|_‘|LI;=|_|‘:_ =2}
= 20,000
AlHI 20,000
402 QI2H X201 40,000 230,000
= 20,000
AlHI 20,000
01 SIAXGEEX 40,000 230,000
ON& I/ 2 40,000,000 40,000
= 20,000
AlHl 20,000
HACCPAI & XI & 400,000 400,000
= 200,000
Al 200,000
402 QI2H X201 A 400,000 400,000
= 200,000
AlHI 200,000
01 QI GEEX 400,000 400,000
O=¢t= IIE3E HACCPAIEZ XI&
400,000, 000& 400,000
= 200,000
Al Bl 200,000
SIJtAtel A 4,000 4,000
AlHI 3,000
-l 1,000
307 212t01& 4,000 4,000
AlHI 3,000
-l 1,000
02 BlItAAE X 4,000 4,000
O2JtAtel 2 4,000,000& 4,000
AlHI 3,000
4l 1,000
uaEogel == & 5,000 5,000
AlHl 5,000
307 gI2told 5,000 5,000
AlHI 5,000
02 Bl2tAAEX 5,000 5,000
ousEge &=+== X 5,000,000& 5,000
AlHI 5,000
HSERZH 2el 92,650 A549
201 LBt A Y| 91,850 3,271
01 AtE222|H] 14,726 680
OHGEXNEH 2R 8,800
RS 50,0003 x1H+116& 5,800
Hl &S A 50,0003 x2H x30 3,000
O22X Il=s(s5) 130,000& «8H 1,040
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fA: NS Z ML
Mo SaAY JE XA
ool AMTIR EA (et &2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
Ot=g otE3H (229 X&) 80,000& x8H 640
O=80g &5 =4 7,000& «4H 1002 2,800
OsR2UIx RAEx 29 500,000 500
odEgs #Y 43,0003 *22& 946
02 323l 77,124 74,533 2,591
OHgXNEH 2l 9,915
H= Hel 200,000& 4 & 800
Y EE= 3,600,000& 3,600
&=z 70,0003 123 840
Lol 940& +82| E +70 527
- E3II A2 1,700,000& 1,700
A Y 50,000& »12& 600
folZdl zteldl 154,000 «12& 1,848
OZHl RX(SAl,&dh) 500,000& 500
OHgxEd 249 66,709
DIFEEIN 26,629% 9000+ 23,967
b [EIN| 201,819&+22&= 4,441
S 38,301
- AR(28)
1,520 3 *9000H = 192 A1 2++0. 125 32,832
-FER0E)
1,720 3 «1500} 2 x96 Al 2t+0. 125 3,096
- &R (R FHI*6.6%) 2,373,000& 2,373
405 XtobE SHI 800 4,620 23,820
01 T =S FH SHI 800 4,620 23,820
OSHEG6PS 800, 000& *1CH 800
HAEA e 7,200 6,500 700
201 LetH| 5,200 5,000 200
01 AtER22/Hl 5,200 5,000 200
O W= M 503 *102+1,000% 500
OS2 6K CHLE I & 2,000& 250 500
O MM QHLHEXE FAIE+ 3,000,000 3,000
ORAAMA MZ 100& *10&*5000H 500
O A ZBIBIAL B 400 = 70,0002 102 700
203 R4l 1,000 500 500
03 AHEFIHRFAH| 1,000 500 500
Oofl =4t 2435t JRFA 1,000,000& 1,000
308 AXIEHHSOIA 1,000 1,000 0
08 JIEtRE S 1,000 1,000 0
OE8HNY ¢5)|2 Bx3 1,000,000& 1,000
oferstd & 1,185,000 1,155,000 30,000
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S XIS R
B apAY Ol X4
ool iRy Il SR
_ _ MNuE o
K- B2 SR(BIH) - HRAY - Be S Aol il b o =2
= 381,000
Il 250,000
AlHI 554,000
SHFH otd ¥ ost2M D HAY 900,000 800,000 100,000
= 360,000
AlHI 540,000
401 A EHIL 201 900,000 800,000 100,000
= 360,000
ALt 540,000
01 Al&HI 894,330 794,960 99,370
LUEAR SIA U SHRMUI| BIAY
894,330, 000& 894,330
= 357,732
AlHI 536,598
03 AlZR04Hl 5,670 5,040 630
OUSARY 518 U SIAMHI| HBAIL Al
20| 5,670,000& 5,670
= 2,268
AlHI 3,402
2ol EHEII=S +=H 250,000 235,000 15,000
Il 250,000
307 GI12+0I & 250,000 235,000 15,000
Il 250,000
05 2IIRAE S 250,000 235,000 15,000
O&EHMHII= = 250,000, 000& 250,000
Pl 250,000
HeHIIZE Hat 35,000 0 35,000
2 21,000
AlHI 14,000
307 GI2t0I & 35,000 0 35,000
= 21,000
AlHI 14,000
05 2IRIRAES 35,000 0 35,000
OdfHII= & 35,000,000& 35,000
= 21,000
AlHI 14,000
X2 AL (XS SH D) 190,684 149,193 41,491
QA2 A 169,384 128,217 41,167
olA2HHI(XIFZH 169,384 128,217 41,167
101 el 4] 169,384 128,217 41,167
03 RIIHAZIZXNE = 169,384 128,217 41,167
SEEVEEL 87,787
=a 1,230,370& x2E 123 29,529
o40= 19,805
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SN
X XH .
S Tt

el

NEED
M2 2|
o121 2 bl

(RIS H )

L RE-E

- SHRI(EAH) - NEAY - BE=

22
J2

1 1 | Jlﬂ 1 1 | 0

P

=

| 1 1 1 E 1 |

O
=
H

0 M

ol ag
A012 XSIIE 1,800,370 «22 200%
¥4y
A0I2 XISIIZE 1,800,370 22 %100%
xle e el
A012 XISIIE 1,800,370 «22%250%
o
ELg 40,0008 +22 12
s4g2sg 90,0008 +22 122
MLl 70,0008 +22 122
2l = AH|
ok ZAlH| 160, 0002 *2% * 128
[P EES 11,0002 %2 * 122
DESEH| 140, 00021 %2 * 122
SREDI
A0I2 XISIIE 1,800,370 <22 %120%
n2Rre
suassg
S 1,950,370 %22 x8/226A) 24+ 150
52 122
ARRBESY
SHAZ 1,950,370 x22 8/226A] 24423
ol
EF4g
< 100, 0009 *2% * 12
CHEI = At 50,0002 +22 12
=
xtof s 70,0002 +2%
OF 5t 23,0002 +2%
2%t 6,002 x2%
oot 35,0002 x2%
29 10,0002 %22
& ol
23 1,230,370 2%+ 128
012
g
A012 XIZIIFE 1,800,3702 2% 5200%
Bty
A012 XIZIIE 1,800,370 22 <100%
M2 et
A012 XIS2IIE 1,800,370 +22 «250%
o g
IISSY (WP 40,0008 522128
IESY(RHA) 20,0002 +52 <122

7,202

3,601

9,002
4,800
960
2,160
1,680
14,161
3,840
2,640
3,360

4,321
15,604

12,428

3,176

3,600
2,400
1,200

288

81,597
29,529
19,805

7,202

3,601

9,002

6,000
960
1,200
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SA: XS ZH
Y HE2HAH (NS Z M)
ool QE 2| (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
-ExYRsY 90,0003 x2H x12& 2,160
-AAE A 70,0003 x2H x12& 1,680
- SClF M| 14,161
- Qg aly| 160,000 x2F 123 3,840
- JHAHIE Z I 110,000 2 12 2,640
- ws2 2l 140,000& »2H «12& 3,360
- 3E IO
&40z XSIIE 1,800,370 x2E x120% 4,321
TU2RE 8,009
-RY2RE
SAUZ 1,950,370 x2H x8/226 Al 2+*150 4,971
Wx2 L * 123
-EREsI=+E
SA&AZ 1,950,370 x2H «8/226 Al 2+x22 3,038
2
JlEt=% 3,805
- 94| 100,000 x2H 12 2,400
- H2l S At 50,0003 x2H «12& 1,200
- AESHIE A+ 205
=&t 51,1703 »1H x4 3] 205
- O= 288
- &Y= 70,000& x2H 140
- OHM 5} 23,000& x2H 46
- 2% 6,000& »2H 12
- ghets 35,000& »2H 70
-9 10,0002 =2 20
=3l 21,300 20,976 324
Jl=23&tl 21,300 20,976 324
201 ety 16,980 16,656 304
01 AFR22lH| 16,980 16,656 324
ORNM2E+=EH| 9,720,000:& *90% 8,748
OJl=ge=d =gt 8,232,000& 8,232
203 HRF&H| 4,320 4,320 0
04 ENBILSZ=EHI 4,320 4,320 0
ORNSZIRFAH 4,320,000& 4,320

_18_




